Efficiency vs P,

- 0.2
2 : : :
L 0.18F -t Prrereeeeed - ARRRRREREEE
> E : : :

2 0.16F---
l]_) L
o
S 0.14
]
0.12
0.1
0.08
0.06]

3

+$--§--- o -

1 10 . Gedf’

©

o

=
III

o
o
N
T
‘g
g

[y

=
oo
N

—=— DQMstep3 TT_CKF
—e— DQMstep3_TT_default
—+— DQMstep3_TT_defaultNEWT20

o 0.1
£0.09
20.08
£0.07
0.06
0.05
0.04
0.03
0.02
0.01

clency

et

AT saqeasaqens gy

LSt 4o 414 4

Ratio
L o
TITT [T T T[T T[TTT1
+
+
3
+
3
——
3ok
>
— .
5 :' .——»—h—:
E,_: _._—._‘ld:
=
e ran g =Sl
e ——ar -
T
>3
>
$

Efficiency vs ¢

s 0.1
4

>‘0.09 ;
2 ]
$0.08 :




	Contents
	Page 1


